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| Time: 10 Minutes Paper Math 6 (T-1) |  Total Marks: 10 |
| 2nd Month, 3rd Week, 3rd Day | Exercise 4.3 Q # (13 to 18) |
W Answer the following questions: - ;.,uzé;.myd RO%)
Q.1. Increase 17 by 85%, what is the result? (1x2=2)
S Yol 385417

Q.2. Decrease 30 by 70%, what is the result? (1x2=2)
?€_gd/Jy¢370u:30

Q.3. After 12% of a bill has been deducted, Rs. 6536 remains to be paid.
How much was the original. (1x3=3)

?la?li'f‘}g)‘l-c"_b‘lglﬂ;la;u6536gfp££d/d:w(312uf‘}

Q.4. The cost of a bicycle is raised from Rs. 8500 to Rs. 10,000. What is the

percentage increase in the price of bicycle? (1x3=3)

S L GBI =d (Lt 316 2,10,000 8500 =d SE L
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